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Note :— Answers may be written either in English’or in
Hindi; but the same medium should be used
throughout the paper. .
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Attempt all questions. '

Al questions .carry equal marks.
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1.  What is management accountin-g? Discuss the role

of management accounting in the areas of planaing.
control and decisionmaking. '

OR
P.T.O.
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Distinguish between management accounting and
financial accounting. Explain the role of a management
accountant in a business firm. (15)
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2.  What is full cost accounting ? Discuss the uses of
full cost information.

OR

Explaiﬁ the different methods of application of
overhead cost in a manufacturing concern. (15)
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3. Explain the uses of variable costing for different
managerial decisions in a large sized manufacturing
firm.
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OR

From-the information given below relating to India
Integration Ltd., you are .required to prepare profit
sta_teménts for the year‘ending March 2011 based on
(i) Marginal Costing (ii) Absorption Costing. Comme_nt

“on the difference in the profit figures between the
two ‘costing techﬁidues. ‘

Praduction . ' ‘ 000 cases
| Sales " 32,000 cases
T ~ {(Rs. per case)
Selling price e 60
Costsz ' '
Production: = ‘
* Direct labour 1
Direct material 14
" Variable overhead . -8
Fixed overhead ' Rs. 2,16,00b

(budgeted and incurred)
 Selling and administrative costs : ’
Fixed = _ ~ Rs. 50,000
Variable™ - o . 15% of sales revenue
"There was no.opening stock of finished goods and
the “‘IOI'I( in progress stock may be assumed to be the

same at the end of the year as it was at the beginning
of the year. ‘ ' o (15}

- R P.T.O.
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4.

What is management control ? Explain appropriate

OR

“management contro! structure in a business enterprise.

Calculate the effect of change in sales mix from the

fotlowing data :

Products
M N 0]
Sales . 40,000 50,000 . 20,000

Variable cost 24,000 34,000 16,000
Fixed _cost. (total) Rs. 29,400

The sales mix chahged to:

M Rs. 30,000
N 44,000
0 : 40,000
P 6,000

(Rs.)
P

10,000
4,000

(13)
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5. Auto Parts Ltd. has an annual production of 90,000
units for a motor component. The company’s cost
structure is as below.

(Rs.)
Materials 270 per unit
Labour (25% fixed) 180 per unit
Expenseps : _
Variable - 90 per unit
Fixed 135 per unit
Total 675 per unit

(a) The purchase manager has an offer from a
supplier who is willing to supply the component at
Rs. 540. Should the component be purchased and

- production étopped ?
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(b) Assume the resources now used for this

component’s manufacture are to be-used to
produce another new product for which the selling
price is Rs. 485. In this case, the material price
will be Rs. 200 per unit. 90,000 units of this
product can be produced on the same cost basis
as above for labour and expenses. '

Discuss whether it would be advisable to divert
the resources to manufacture the new products,
on _the‘footing‘ that the component presently being
produced would, instead of being.produced, be
-purcihased from the market. ’

OR

In a depart’n{ent"the following data is submitted for
the week ending March 31, 2011].

Standard output for 40 hours per week 1400 units

Standard fixed overhead ’ Rs. 1,40,000
Actual output o 1200 units
Actual hours wofked o ; g 32 hours
Actual fixed overhead Rs. 1,50,000

Calculate the following variances :

(i) Expenditure variance

(ii) Volume variance

P.T.O.
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(iii) Efficiency variance
{iv) Capacity variance
(v) Total overhead cost variance {15)
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